
WJEC 2019 Online Exam Review

GCSE Mathematics Unit 2 Foundation 3300U20-1 

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 6305 2.9 1.2 4 72.4 99.7

2a 4424 0.5 0.5 1 46.2 69.9

2b 4563 0.1 0.3 1 7.6 72.1

2c 5681 0.8 0.4 1 80.6 89.8

3a 5055 0.4 0.5 1 44.5 79.9

3b 5999 0.4 0.5 1 44.5 94.8

3c 6010 0.2 0.4 1 18.7 95

4a 5653 0.7 0.4 1 74.5 89.4

4b 5564 0.3 0.5 1 33.7 88

5a 4638 0.4 0.7 2 18.2 73.3

5b 4927 0.6 0.5 1 60.4 77.9

6 6182 0.3 0.6 2 16.8 97.7

7a 6126 1 0.9 2 48.6 96.8

7b 4128 0.2 0.4 1 17.5 65.3

7c 4130 0.3 0.4 1 27.1 65.3

8a 4974 0.4 0.5 1 35.5 78.6

8b 5870 0.2 0.4 1 24.4 92.8

8c 5047 0.6 0.7 2 31.6 79.8

9 4825 1.4 1.6 5 28.1 76.3

10ai 6047 0.8 0.4 1 79.4 95.6

10aii 4932 0.2 0.4 1 22.6 78

10bi 4964 0.1 0.3 1 12.3 78.5

10bii 4457 0.5 0.5 1 48.1 70.5

11a 5284 1.4 0.9 2 67.8 83.5

11b 4301 0.4 0.5 1 41.2 68

12a 4971 0.7 0.8 2 35.3 78.6

12b 4093 0.6 1 3 18.4 64.7

13a 6153 0.5 0.5 1 51.5 97.3

13b 6103 0.3 0.5 1 29.5 96.5

13c 6161 0.5 0.6 2 25.6 97.4

14 4615 0.8 1.4 5 16.3 73

15 3776 1.2 1.6 5 24.5 59.7

16a 3802 0.1 0.4 2 4.9 60.1

16b 5130 0.6 0.9 3 21.3 81.1

17 5794 0.6 1.2 4 15 91.6
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WJEC GCSE MATHEMATICS (NEW) 
 


SUMMER 2019 MARK SCHEME 
 


GCSE MATHEMATICS  
Unit 2: Foundation Tier Mark Comments 
1.     (£)4.67 
  (£)5.84 
    (£)7.08 
  (£)1.45 


B1 
B1 
B1 
B1 


 


2.(a) Pentagon B1  
2.(b) Rhombus B1 Allow equilateral kite, but not kite or parallelogram. 
2.(c) Cylinder B1 Allow circular prism. 
3.(a) (47,) 94, 141 B1 Ignore additional multiples. 
3.(b)     52 B1  
3.(c)  209 B1  
4.(a) Midpoint unambiguously indicated B1 Allow +/- 2 mm. 
4.(b) Unambiguous parallel line drawn through C B1 Allow +/- 2°. 
5.(a) 9 (and) 16 B2 Allow 32 (and) 42. 


B1 for a sum of two square numbers less than 30 
seen in workings or two square numbers less than 
30 written on the answer line. 


5.(b) Accept suitable explanations, e.g.  
• the sum of three even numbers will be 


even (and 23 is odd) 
• when you add any amount of even  


numbers the answer is always even (whilst 
23 is odd). 


• (23 is odd, but) even + even + even = even 


E1 Allow • even + even = even,  
          • because 23 is odd. 


6.  FALSE 
 TRUE 
  FALSE 
 TRUE 


B2 For all four correct. 
B1 for 3 correct. 


7.(a) 60 (%) B2 B1 for equivalent fraction or decimal (0.6, 3/5, 
12/20). 
If B2 not awarded, F.T. their fraction (except for ½, 
¼ and ¾) correctly converted to a percentage for 
B1. 


7.(b) Multiply by 4 E1 Accept other correct explanations e.g. divide (the 
number) by 5 then multiply by 20, double (the 
number) and double (it) again or divide by ¼. 


7.(c) Accept suitable explanations, e.g. 
• 0.125 (is greater than) 0.1 
• 5/40 (is greater than) 4/40 


 
 
           


E1 Award E1 for other correct explanations e.g. a 
larger denominator means each part of the whole is 
smaller, or for correct evaluation of 1/8 and 1/10 of 
a chosen number. 


8.(a) 65 (°) B1 Allow ±2  
8.(b)     225° B1  
8.(c) 
 
 (Small angle = 180 ÷ 6 =) 30(°)  
 (Large angle = 5 × Small angle =) 150 (°)     


 
 


B1 
B1 


Check diagram, though answer space takes 
precedence. 
 
F.T. 'their small angle' × 5 or 180 - 'their small 
angle ', provided answer is less than 180⁰.  
If no marks awarded, award B1 for both correct 
angles given in reverse. 












Question 5(a) 



Comment

This candidate has given two square numbers as their answer, but they have ignored the condition for the numbers to add to another square number under 30. This answer was awarded B1.












Question 5(a) 



Comment

This candidate has confused square numbers and prime numbers. This was a common error.












Question 5(a) 



Comment

This candidate has engaged with the 30 given in the question but ignored the condition for Bethan’s numbers to both be square. 15 and 15 was a common incorrect answer.
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4.	 A line AB is shown below.


A


B


C


	 (a)	 Mark the midpoint of AB with a ×.	 [1]


	 (b)	 Draw a line parallel to AB that passes through point C.	 [1]


5.	 (a)	 Bethan writes down two square numbers. 


		  She adds her two numbers together. 
		  Her answer is a square number less than 30. 


		  Which two square numbers did Bethan write down?	 [2]


	


	


	


	


	


Bethan’s square numbers are …….. . . . . . . . . . . .…… and …….. . . . . . . . . . . .……


	 (b)	 Harri adds three even numbers together and gets an answer of 23.


		  Explain how you know that Harri’s answer is incorrect.	 [1]


	


	


	












Question 8(c) 












Question 8(c) 
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WJEC GCSE MATHEMATICS (NEW) 
 


SUMMER 2019 MARK SCHEME 
 


GCSE MATHEMATICS  
Unit 2: Foundation Tier Mark Comments 
1.     (£)4.67 
  (£)5.84 
    (£)7.08 
  (£)1.45 


B1 
B1 
B1 
B1 


 


2.(a) Pentagon B1  
2.(b) Rhombus B1 Allow equilateral kite, but not kite or parallelogram. 
2.(c) Cylinder B1 Allow circular prism. 
3.(a) (47,) 94, 141 B1 Ignore additional multiples. 
3.(b)     52 B1  
3.(c)  209 B1  
4.(a) Midpoint unambiguously indicated B1 Allow +/- 2 mm. 
4.(b) Unambiguous parallel line drawn through C B1 Allow +/- 2°. 
5.(a) 9 (and) 16 B2 Allow 32 (and) 42. 


B1 for a sum of two square numbers less than 30 
seen in workings or two square numbers less than 
30 written on the answer line. 


5.(b) Accept suitable explanations, e.g.  
• the sum of three even numbers will be 


even (and 23 is odd) 
• when you add any amount of even  


numbers the answer is always even (whilst 
23 is odd). 


• (23 is odd, but) even + even + even = even 


E1 Allow • even + even = even,  
          • because 23 is odd. 


6.  FALSE 
 TRUE 
  FALSE 
 TRUE 


B2 For all four correct. 
B1 for 3 correct. 


7.(a) 60 (%) B2 B1 for equivalent fraction or decimal (0.6, 3/5, 
12/20). 
If B2 not awarded, F.T. their fraction (except for ½, 
¼ and ¾) correctly converted to a percentage for 
B1. 


7.(b) Multiply by 4 E1 Accept other correct explanations e.g. divide (the 
number) by 5 then multiply by 20, double (the 
number) and double (it) again or divide by ¼. 


7.(c) Accept suitable explanations, e.g. 
• 0.125 (is greater than) 0.1 
• 5/40 (is greater than) 4/40 


 
 
           


E1 Award E1 for other correct explanations e.g. a 
larger denominator means each part of the whole is 
smaller, or for correct evaluation of 1/8 and 1/10 of 
a chosen number. 


8.(a) 65 (°) B1 Allow ±2  
8.(b)     225° B1  
8.(c) 
 
 (Small angle = 180 ÷ 6 =) 30(°)  
 (Large angle = 5 × Small angle =) 150 (°)     


 
 


B1 
B1 


Check diagram, though answer space takes 
precedence. 
 
F.T. 'their small angle' × 5 or 180 - 'their small 
angle ', provided answer is less than 180⁰.  
If no marks awarded, award B1 for both correct 
angles given in reverse. 












Question 8(c) 



Comment

It was common for candidates to engage with one of the two conditions. This candidate has written a large angle which is five times larger than the small angle so was awarded B1. 












Question 8(c) 



Comment

It was common for candidates to engage with one of the two conditions. This candidate has written two angles which sum to 180⁰ so was awarded B1.












Question 8(c) 



Comment

Often candidates got one angle correct but the other one incorrect so were awarded B1. In this response, the large angle is more than 5 times the size of the small angle, and the angles add to more than 180⁰.
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8.	 (a)	 Measure BAC.	 [1]
$


$


A


C


B


BAC = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °


	 (b)	 One of the angles below is a reflex angle.
		  Circle the correct answer.	 [1]


45°                90°                135°                180°                225°


	 (c)	 The diagram below shows two angles on a straight line. 
		  The large angle is 5 times the size of the small angle.
		  Find the size of each angle.	 [2]


Diagram not drawn to scale


	


	


	


	


	


Small angle = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °          Large angle = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °












Question 9 












Question 9 












Question 9 
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9.  
Length of sides in Cuboid B = 5 (cm), 3(cm), 6 (cm)  
 
Volume of Cuboid B = 5 x 3 x 6           
                                                   = 90 (cm3)         


 
B1 


 
M1 
A1 


 
Award B1 for (height =) 6 (cm), provided length and 
width aren’t also multiplied by 3. 
F.T. ‘their height’ x 5 x 3 


Alternative method 
 (Volume of Cuboid A =) 5 x 3 x 2 
 
                                   =   30 (cm3) 
 
 (Volume of Cuboid B =)   90 (cm3) 
 


 
M1 


 
A1 


 
B1 


 


 
 
 
 
 
F.T. for their stated or derived volume for Cuboid A’ 
 


Organisation and Communication. 
 
         
          
 
 
 
 
 
 
                    Accuracy of writing. 
 


OC1 
 
 
 
 
 
 
 
 
 


W1 


For OC1, candidates will be expected to: 
• present their response in a structured way 
• explain to the reader what they are doing at 


each step of their response 
• lay out their explanation and working in a 


way that is clear and logical 
• write a conclusion that draws together their 


results and explains what their answer 
means 


 
For W1, candidates will be expected to: 


• show all their working 
• make few, if any, errors in spelling, 


punctuation and grammar 
• use correct mathematical form in their 


working 
• use appropriate terminology, units, etc 


10.(a)(i) Subtract six (from the previous term) B1 Accept 'take away 6' or '(goes) down in 6s'. 
Allow -6.  
B0 for n-6 


10.(a)(ii) Double (the previous term) B1 Accept 'multiply by 2' or ‘times by 2’. 
Allow ×2.  
B0 for n×2 


10.(b)(i) x + 3 B1 Mark final answer. 
10.(b)(ii) (£)15g B1 Mark final answer. Accept 15 × g 
11.(a)            28·34   or  1417/50  or  2817/50   ISW  B2 B1 for sight of 23·04   OR   sight of 5·3. 


If B0 allow SC1 for 28 or 28·3 
11.(b)      34·8     or   174/5  or  344/5                ISW B1  
12.(a)           (19 − 18·2 =)     0·8 B2 B1 for sight of 19  OR  sight of −18·2.          BUT 


B0 for 19f − 18·2g.     
Mark final answer. 


12.(b)                 7x =  16 
                        ( x =) 16/7 
                                       (x=) 2·3 (to 1dp) 


B1 
B1 
B1 


 
FT from 7x = k.  Allow 16 ÷ 7   
FT from any fraction that requires rounding. 
Mark final answer.  
(x =) 2·2…. implies B1B1B0. 
Allow an embedded 2·3, B1B1B0 


13.(a)                    4 hours 45 min B1  
13.(b)                                                         2·4 km B1  
13.(c)                    


7km less than 5 miles TRUE  
1kg less than 2lb  FALSE 
1 litre less than 1 pint  FALSE 
8 litres less than 900cm3  FALSE 


 


 
 


B2 
 
 


 
 
For all 4 correct. 
B1 for 3 correct. 
 
 












Question 9 



Comment

This candidate has found the correct height of cuboid B but was unable to find its volume. This candidate has attempted to find volume by multiplying length by width.












Question 9 



Comment

This candidate has found the correct height of cuboid B but was unable to find its volume. This candidate has given an incorrect volume of 55, obtained without showing any working.












Question 9 



Comment

This candidate has found the correct height of cuboid B but was unable to find its volume. This candidate has attempted to find volume by adding length, width and height.
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9.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 Cuboid A is made up of a number of cubes as shown below.
	 Each edge of each cube is 1 cm long.


height


width


length


	 A different cuboid, Cuboid B, has the same length and width as Cuboid A.
	 The height of Cuboid B is three times the height of Cuboid A.


	 What is the volume of Cuboid B?
	 You must show all your working. 	 [3 + 2 OCW]


	


	


	


	


	


	


	


	


	


	


	


	












Question 5(a) 












Question 5(a) 



Comment

This candidate has demonstrated understanding of square numbers in their working lines, but in their answer, they have written two numbers which aren’t square. Candidates who wrote 22 and 52 as their answer were awarded awarded B1; however, no marks were awarded for writing 2 and 5 alone





















Comment

This candidate has written two angles, with the large angle being 5 times the size of the small angle; however, as the large angle was more than 180⁰ the candidate was awarded 0 marks.












Question 8(c) 












Question 8(c) 



Comment

Candidates often gave an answer of 45⁰ as the size of small angle. This was typically obtained because candidates used the diagram (which was not drawn to scale) and decided the small angle was a quarter of a straight line – ¼ of 180⁰ is 45⁰. This candidate was awarded B1 because the total of their small and large angles is 180⁰.












Question 9 












Question 9 



Comment

This candidate has made the length, width and height of cuboid B three times larger, instead of just the height. Candidates who did this were awarded B0 but could be awarded further marks if they calculate the volume of ‘their cuboid B’ correctly.












Question 9 












Question 9 



Comment

Some candidates preferred to calculate the volume using cubes instead of using length, width and height. This candidate was awarded M1 A1 B1, however they were awarded W0 for providing incorrect units – using cm2 instead of cm3.











